Week beginning 11/5/20
This week we are going to start a unit about coordinates and
directions.

Lesson 1 Describing positions.

y
10
9
8 When we draw a grid each number is
7 level with a line and does not sit in the
6 middle of a square.
5
4 The line on the left is called the y axis
3 and the line at the bottom is called
2 the x axis.
1
0

» X
01 2 3 45 6 7 8 910

You can find a short clip about this :
https://www.bbc.co.uk/bitesize/clips/z7ampv4

- To read a coordinate ( position) 10
you move along the x axis to the
right and stop at the line where the
shape/object is.

« This number makes the first part of
the coordinate (1, ).

+ Next move up the y axis and stop at
the shape/object. Look at the
number of that line and write it
inside the bracket (1,4 )

- Remember , you have to go along
then up.

« Put a comma in between each
number inside the bracket.
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https://www.bbc.co.uk/bitesize/clips/z7qmpv4
https://www.bbc.co.uk/bitesize/clips/z7qmpv4

Now all read some coordinates. Write the coordinate for each grid.
You can find a quick game on -line to practise first.
https://mathsframe.co.uk/en/resources/resource/469/Coordinates-Alien-Attack
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https://mathsframe.co.uk/en/resources/resource/469/Coordinates-Alien-Attack
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Now try this then complete the
Describe Position questions.

Varied Fluency 1

Are the coordinates of each point correct?

104

o] TB] A=(1,4)
8 d B=(9,2)
Z c C=(4,6)
X A D=(8,9)
3 = E=(8 2)
f O F=(3,1)
; F

@ » X
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Describe Position

Describe Position

1a. I'm thinking of a coordinate. The value
of x is between 2 and 5 and the value of y
is between 1 and 3. Which coordinate
could it be? Explain your answer.

y
54

4

1b. I'm thinking of a coordinate. The value
of x is between 2 and 4 and the value of y
is between 3 and 5. Which coordinate
could it be? Explain your answer.

y
54

4 C

4a. I'm thinking of a coordinate. The value
of x is between 3 and 6 and the value of y
is between 7 and 9. Which coordinate
could it be? Explain your answer.

y
104
9
8 B. C.
7
6 D.
5
4 A.
3
2 F. EO
1
0

012345678910%

4b. I'm thinking of a coordinate. The value
of x is between 2 and 4 and the value of y
is between 3 and 6. Which coordinate
could it be? Explain your answer.

y
A

104 B oE

9'(:

8 )

7

I3 o°

5

4| o*

3

2

0
012345673916

7a. I'm thinking of a coordinate. The value
of x is between 3 and é and the value of y
is between 1 and 6. Which coordinate
could it be? Explain your answer.

y
104 °
9 Be D
8
7
E
6 °
™ =
4 ® .
3 o
2 ®
1
0

012345678910%

7b. I'm thinking of a coordinate. The value
of x is between 0 and 5 and the value of y
is between 4 and 7. Which coordinate
could it be? Explain your answer.

y
104
9
8
7 D QE
é o
5|
4
3 CQ
2
1 BO .G OF
0

0123456782910~




Varied Fluency 1

Are the coordinates of each point correct?

Were you right?

T

o [B] A=(1,8) v

8 °L | B=(9.2) =@29
Z c, C=(46 v
i_,“ D=(8,9)  *(98)
3 E E=(82) -

f * F=(3,1) %(3,0)
" F

g X
01 23 45 6 7 8 910

=

B Developing Developing
1a. B and C are correct. A = (1, 4); 1b. A and D are correct. B = (3, 5);
D=(4,4) C=(3,3)
Expected Expected
4a. B and E are correct. A = (7, é); 4b. A, B and F are correct. C = (4, 4);
C=(1,2);D=(3,4);F=(9.7) D=(9.3)E=(3 1)
Greater Depth Greater Depth
7a. B and F are correct. A = (4, 8); 7b. A, B and F are correct. C = (14, 14);
C=(10,11); D= (16, 14); E= (12, 6) D=(18,8);E=(9,5)

Try reading these coordinates to spell a word.

L

Varied Fluency 2

Find these coordinates in order. What word do the letters spell?
(6,3) (4.8) (5.0) (9.7) (7.9)

y
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They spell EARLY

Try a couple of questions like this.

2a. Find the coordinates in order. What
word do the letters spell?

(0, 4) (4, 3) (4, 0) (1,1)
y

SI °.

oM

3 ol oA

2

1 o

0 .L-»x

2b. Find the coordinates in order. What

word do the letters spell?

(4, 2) (2,2) (4, 5) (1,0)

y

A

S E

I

al o 2 ®

3

2 of U

1

ol_eY > x
0o 1 2 3 5

VF

5a. Find the coordinates in order. What
word do the letters spell?

(7. 1) (3.3) (9. 3) (2, 5) (5. 1)

y

104

9

8

7 °’ o'

6 G

5 ® M

4 E |

3 o ()

2 N R

1 e o
0 » X
012345467 8%910 vi | Se7

5b. Find the coordinates in order. What

word do the letters spell?
(9. 2) (1, 1) (6,9)

y
104

9 = °'
gl e

7

6

5| ot

4 o
3

2

1| of °
0

(9. 8)

(¢]
®

01 23456782910

(7.1

8a. Find the coordinates in order. What
word do the lefters spell?

(27, 8) (9,24) (6.3) (30,27) (24,12) (0, 18)

» <

304
27 @ (]

» X

-
0 3 6 912151821242730 VF

8b. Find the coordinates in order. What

word do the letters spell?

(30,3) (27,21) (21,8) (6, 9) (6,30) (24,21)

304
27| o ®c
24
21| o" A ofe"
18 ®
15
12
9| &V
6 P
3 Ao
0 gE >
036 9121518212427

X
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Answers: 2a MANY 2b THEY 5a REIGN 5b OFTEN 8a ENOUGH

8b ANSWER

NOW ALL HAVE A TRY AT PLOTTING SOME COORDINATES.
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(3,2 3,1 a,mn
@]

0,3 3,9 (5,2
a —®—— |

(4,2 2,0 (3,3
L1 | @ | )41 1 | 4t

5,3) 2,2 (0,4

Check your answers.

Work out the missing coordinates for B, D, F and plot
those for A,Cand E.

Complete the coordinates below and plot any missing points on the

L

(5.3)
(.)
(1.7)
(.)
(4. 6)
(.)

Varied Fluency 3

10
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grid.
y
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Varied Fluency 3

Complete the coordinates below and plot any missing points on the

grid.
y
10 ‘F
A = (5,3) ? b
8 c @
B = (6,2 7@ _
cC = (1,7 6 @
D = (5.8 .
= (5,8) 4
A
E = (4,6) 3 L B
F = (7.9 2 ¢
1
0

X
01 23 45 67 8 9210
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Try these.

3a. Complete the coordinates below and
plot any missing points on the grid.
A=(3 B = (,)
cC =1(,) D = (1,4
y B
54 )
4
3
2 .C
1
0 » X
ﬁ 0 1 2 3 4 5 o

3b. Complete the coordinates below and
plot any missing points on the grid.
A=(5,2 B =(,)
C=(3 D =(,)
y
51\ o B
4
3
2
1 o’
0 > X
ﬁ 0 1 2 3 4 5
VF

6a. Complete the coordinates below and
plot any missing points on the grid.

A =(,)B =(29 C=(05)
D =(.,)E = (1,4 F=(, )
104
9
; o
F
6 o
5
4 A
3 o
2
1
_JI,L_ o

r 4 » X
I~ 012345246728 2%910

6b. Complete the coordinates below and
plot any missing points on the grid.

A = (54) B = (,) C=1(27
D =(.) E =(.) F=(1)
y
104
9
8 B
7 o
6 E
5 o
4
3 .D
2
) 1
' 0

012345678 7910"

9a. Complete the coordinates below and
plot any missing points on the grid.
A (,)8B (8,13) C=(2,19)
D =(, )E (17,1 F =(. )
20}
18
146 F
14
12
10
8

O N B O

0 246 8101214161820

9b. Complete the coordinates below and
plot any missing points on the grid.
A =(17,14) B = (19,5) C=(, )
D =( ) E = (311) F=(, )
y

204
18
16
14| C
12
10
8

D

F

O N B O

0 246 8101214161820




3a.B=(4,5)and C = (2, 2) 3b.B=(1,5)and D = (5, 1)

The completed grid should look like this: The completed grid should look like this:
Y B y B
54 o 54 o
D
14— 4
A c
3/ e 3 °
2 .C 2 .A
1 1 o
%z 3 & 2~ %72 3 7 2
6a.A=(7,3),D=(9,7)and F = (3, 6) 6b.B=(4,7),D=(1,3)and E = (8, 5)
The completed grid should look like this: The completed grid should look like this:
Y y
104 104
s o N
8 8
7 F OD 7 OC .B
é L é
s . 5 G
al e 4 o
3 of 3| o°
2 2
1 1 .’
%1 2345678910 % 12345678910
9a. A=(16,4),D=(3, 6). and F= (19, 15) 9b.C=(2,13),D=(11, 18) and F = (13, 2)
The completed grid should look like this: The completed grid should look like this:
Y Y
204 G 20,
18| @ E 18 o’
16 e _F 16
14 o ® 14| © oA
12 12 E
10 10 e
8 8
s| o° 6 B
4 e 4 ; e
2 2 °
% 2 4 5 8101214161826 °

0246 8101214161820



Lesson 2

Joining Coordinates Investigation

A polygon is a 2D flat shape with straight
sides. The lines must make a closed shape.

You can plot the coordinates of a polygon

and join them up using straight lines.

Join them up in order.

Type to enter text

-

(] 1 2 3 4 s s 7 1 9 10

1

I S T R S R T

Plot the coordinates on the grid then join
the dots in order.

Use a ruler to draw straight lines.

(4! 6) ’ (65 6) ’ (7! 4) ’ (6! 2) ’ (4, 2) ’ (3! 4)

This polygon is a regular hexagon
because its sides and internal angles are
the same.

Plot the coordinates on the grid then join
the dots in order.

Use a ruler to draw straight lines.
(2,4),(3,10), 6,7),(7,4),(9,2), (5,1)

This polygon is an irregular hexagon
because its sides are different lengths
and the internal angles are also different.

NOW USE THE GRIDS BELOW TO PLOT DIFFERENT COORDINATES OF A PENTAGON
- A FIVE-SIDED POLYGON. MAKE EACH A DIFFERENT SHAPE BUT REMEMBER,

THEY MUST ALL HAVE 5 STRAIGHT SIDES. WRITE THE COORDINATES UNDER EACH
GRID.THEN TRY A DIFFERENT POLYGON - PERHAPS A TRIANGLE OR AN OCTAGON.




1 1
9 o}
7 7
6 6}
5 5
4 |
3 8 |
2 2
1 1
% 10 % 10
1
9 9
7 7
6 6
5 5
4 4
3 3
2 2
1 1
% 10 % 10




1 1
9 o}
7 7
6 6
5 5
4 4
3 3|
2 2
1 1
% 10 % 10
1
9 |
7 7
6 6}
5 5
4 a}
3 3}
2 2
1 1
% 2 10 % F 10




1 1
9 9
7 7
6 6
5 5
4 4
3 3
2 2
1 1
% : 10 % 1 10
1
9 9
7 7
6 6
5 5
4 4
3 3
2 2
1 1
% 10 % 10




1 1
9 o]
7 7
6 o}
5 s|
4 a
3 3|
2 2
1 1
% 10 % 10
1
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7 7
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5 5
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2 2
1 1
% : 10 % 2 10




Lesson 3 Remember to explain your answer.

Reasoning 1

I'm thinking of a coordinate. The value of x is between 3 and é and
the value of y is between 2 and 5. Which coordinate could it be?

N
| y Explain your answer.
N 10 f
1 9
8 '
7 —©
E B
6 ¢ .
j D
* A
3 '
2
1
0

X

0123 45467 8 910
Coordinate A because...
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Answer REASONING 1: Coordinate A because it is the only point with an x
coordinate between 3 and 6 and ay between 2 and 5.

. \ v 4

Problem Solving 1
Billy has written the coordinates for a pentagon. Correct any r
4 mistakes he has made.
] y
! 10
\ 9
B C
8 @
7 '\
. N
PointA = (4,3) . >| D
PointB = (3, 8) A
. . 4 & /
PointC = (6,8) 3 \\ /
" PointD = (9.5) 2 \/
. gt E
Bill PointE = (2,7) 1
0 » X
l 01 23 4567 8 910
—— NR—
- \ V A A

Problem Solving 2

of points B, D, E and F.

A = (3, 5), C = (8, 3). Use this information to work out the coordinates

r:

y
) Point A = (3, 5)
PointB = (, )
Point C = (8, 3)
PointD = (, ) A‘
PointE = (, ) .D
PointF = (, )
| o SR

CLASSROON S22
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Problem Solving 1

Billy has written the coordinates for a pentagon. Correct any
! mistakes he has made.

y

Billy read the y axis before 10

i the x axis for Points A and 9
E, which should have been B‘ C
(3, 4) and (7, 2). ‘\

N\

; V&

L N

Point A
Point B
Point C
s " Point D

(3. 4)
(3. 8)
(6, 8)
(9. 5)
(7. 2)

el

Billy Point E

© = N W h 1 6 N ®

X
012345467 8 910

7 %
KX
crets
oreLs

h v AR
Problem Solving 2
A = (3, 5), C = (8, 3). Use this information to work out the coordinates r
I of points B, D, E and F.
3 y
!
| PointA = (3, 5) r
Point B = (8, 5)
Point C = (8, 3)
A B
Point D = (5, 3) ¢ g
1 PointE = (5,1 @ L
(5-1) D C
PointF = (3, 1)
0 F?__?E X

| &%
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Try these reasoning and problem solving questions. Remember to choose one

set of challenges: Developing/Expected/Greater Depth.

Describe Position

Describe Position

la. I'm thinking of a coordinate. The valve
of x is belween 2 and 5 and the valve of y
is between 1 and 3. Which coordinate
covuld it be? Explain your answer.

Yy
SA

4

x

ﬁ 0 1 2 3 4 5

ﬁf 0 1 2 3 4 5

1b. I'm thinking of a coordinate. The valve
of x is betlween 2 and 4 and the value of y
is between 3 and 5. Which coordinate
could it be? Explain your answer.

y
SA

4 Ce

x

2a. Caleb has written the coordinates for
the points on the grid. Correct any
mistakes he has made.

SY
I Py
C
4
A

3 [ ] = =
L

2 -
kg

B N i

1 o
[

o x--

0o 1 2 3 4 5

ﬁ A=(1.3) B=(41) C=(523)

2b. Cara has written the coordinates for
the points on the grid. Correct any
mistakes she has made.

y
5}
4

C
3 [} s =
B et S

2 o . <4

I “l:.‘ll‘.
0 x 4k

0o 1 2 3 4 5§

ﬁy A=(40) B=(3,2) C=(513)

3a.A=(1,1) C=(3,4)
Use this information to work out the
coordinates of points B and D.

3b.B=(1,3) D=(51)
Use this information to work out the
coordinates of points A and C.

Yy y
A A
B C
B L CI
A D A D
ﬁ 00 » x | ﬁ? 00 > x
e classroomsecrets.co.uk
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Describe Position

Describe Position

4a. I'm thinking of a coordinate. The valve
of x is between 3 and 6 and the valuve of y
is between 7 and 9. Which coordinate
could it be? Explain your answer.

y
104

5

B c

8 ® ®

7

6 Do

5

al "o

3

2 Fe o

1

0

0123456782910

W

| 5e7 0

4b. I'm thinking of a coordinate. The valve
of x is between 2 and 4 and the valve of y
is between 3 and 6. Which coordinate
could it be? Explain your answer.

104 L

F

T 234567 8910%

O = N Wbhthho N @0

5a. Brandon has written the coordinates
for a rectangle. Cormrect any mistakes he

has made.
y

104
9
8 B C
7
é
L
4
3 . -
2 II
1 A D
0

> X
0123456782910

5b. Susie has written the coordinates for a
pentagon. Cormrect any mistakes she has

made.
y
104
9
8
- B C
6
D
5
4
3
A E
2
1
0

» X
0123456789170

Use this information fo work out the
coordinates of points B and D.

_ _ _ _ A=(3.2) B=(27) C=(7.7)
A=(2.2) B=(8,2) C=(4.8) D=(25
(g AT22) B=(82) C=(48 D=@25) |7 D=(59) E=(8 3)
6a.A=(2,3) C=(7.7) 6b.A=(3.1)

Use this information to work out the
coordinates of points B and C.

. 4
"B
B = z'f \
[
/‘f \l'
/ \
A 0 / \
0 » X 0 A C > x
0 0
7 |
e classroomsecrets.co.uk
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Describe Position

Describe Position

7a. I'm thinking of a coordinate. The valve
of x is between 3 and 6 and the valve of y
is between 1 and 6. Which coordinate
covuld it be? Explain your answer.

8
104 )
9 Be 0
8
7
6 o
s| e
4 Co
3 Fo
2 G,
1
0

0123456782910

7b. I'm thinking of a coordinate. The valve
of x is between 0 and 5 and the valve of y
is betlween 4 and 7. Which coordinate
covuld it be? Explain your answer.

y
104

9

8

7 5 of
6 °

s|%e

4

3 Ce

2

1% o o
0

0123456787910

8a. Sally has written the coordinates for a
hexagon. Correct any mistakes she has

made.
I@@l
2>

Yy
18 A
: :
it
E
D - =

204
» X
0246 8101214161820

A=(8,18) B=(14,14) C=(6 14)
D=(3,11) E=(8,8) F=(211)

ON K O ®

8b. Hashim has written the coordinates for
a pentagon. Comrect any mistakes he has

made.
y

204

18 B

; c g
14
D
12|, O
10
8

6 | "‘
a E n
2

% 2246 8101212161820
A=(6,11) B=(218) C=(1612)
D=(18,12) E=(6, 13)

9a.B =(45,45) D=(55)
Use this information fo work out the
coordinates of points A and C.

9b. F= (15, 40) C = (45, 20)
Use this information to work out the points
of the remaining coordinates.

Yy Yy
A A A
09 = > x %
e classroomsecrets.co.uk
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Reasoning and Problem Solving
Describe Position

Developing
1a. Cis the only coordinate that has a

value of x between 2 and 5, and a value
of y between 1 and 3.

2a. Caleb has read the y axis before the x
axis on coordinate C, which should be

(3, 5).

3a.B=(1,4)and D =(3,1)

Expected
4a. B and C are the only coordinates that

have a value of x between 3 and 6, and a
value of y between 7 and 9.

5a. Brandon has read the y axis before the
x axis on coordinates B and D, which
should be (2, 8) and (5, 2). He has misread
coordinate C, as this should be (5, 8).
6a.B=(4,7)and D =(9, 3)

Greater Depth
7a. Cis the only coordinate that has a

value of x between 3 and é and a value of
y between 1 and 6.

8a. Sally has misread coordinate A, which
should be (8, 19). She has read the y axis
before the x axis on coordinates C and D,
which should be (14, 6) and (11, 3).

9a. Grid increases in infervals of 5.

A =(20, 45) and C = (30, 5)

Reasoning and Problem Solving
Describe Position

Developing
1b. B is the only coordinate that has a

value of x beiween 2 and 4, and a value
of y between 3 and 5.

2b. Cara has read the y axis before the x
axis on coordinate A, which should be
(0, 4).

3b.A=(1,1)and C = (5, 3)

Expected
4b. D is the only coordinate that has a

value of x between 2 and 4 and a value of
y between 3 and 6.

5b. Susie has read the y axis before the x
axis on coordinates A and D, which should
be (2, 3) and (9, 5). She has misread
coordinate E, as this should be (7, 3).
6b.B=(5 9 andC=(7,1)

Greater Depth
7b. A and D are the only coordinates that

have a value of x between 0 and 5, and a
value of y between 4 and 7.

8b. Hashim has read the y axis before the
X axis on coordinates C and E, which
should be (12, 16) and (13, 6). He has
misread coordinates A and D, which
should be (5, 11) and (18, 13).

9b. Grid increases in intervals of 5.

A = (35, 45), B = (35, 30), D = (20, 5) and
E=(10, 20)



This week’s puzzle:

© MathSphere  www.mathsphere.co.uk
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Highest total!

9 9

Start anywhere and collect five numbers by
following the paths - no jumping or going back over
a path twice!

What is the highest total you can make?
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| 'ff/ Puzzie time
Highest total! - answer

The route shown gives a total of 37.

Can you find an even bigger 1otal? There is at least one way 1o get 39!

9 7

9 Vo

Remember to keep on learning times tables.



